
Class:Class 4 Subject: Maths Topic:Money

S.No Question Answer Options

1

Shikha went to buy two 
lamps for her house. The 
cost of one lamp is ₹ 267.90 
and the cost of the other is ₹ 
312.60. How much did 
Shikha pay for both?

₹ 480.50

₹ 580

₹ 580.50

₹ 580.75

₹ 480.50

₹ 580

₹ 580.50

₹ 580.75

2 Subtract : ₹ 56.89 - ₹ 37.20 =

₹ 19.69

₹ 19.59

₹ 18.69

₹ 18.79

₹ 19.69

₹ 19.59

₹ 18.69

₹ 18.79
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3

Five friends A,B,C,D and E go 
to a restaurant. Look at the 
menu card and answer the 
following question: How 
much would D pay for a 
burger and a milk shake?

₹ 100

₹ 75

₹ 90

₹ 120

₹ 100

₹ 75

₹ 90

₹ 120

4
Fill in the blanks : If 1 DVD 
costs ₹ 249.9 then 8 such 
DVDs will cost ₹ ____________

Answer
____________

Answer
____________

5
State whether the statement 
is true or false : Cent is 1 / 
100 of a Dollar.

True

False

True

False
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Correct Answer is
1. Correct Ans option is ? 580.50
2. Correct Ans option is ? 19.69
3. Correct Ans option is ? 120
4. Correct Answer is 1999.2
5. Correct Ans option is True
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